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dir node> D hlist 0 (25.0+25.0)x8.77776, dir=19
dir node> .D whatsit 41 41

dir node> .D whatsit 40 40

dir node> .D kern 0 -25.0pt

dir node> .D hlist 2 (6.83331+1.94444)x50.0, dir=4, shifted 6.83331

dir node> ..0 whatsit 44 userid:4 (direction) (node list)
dir node> ...D hlist O (50.0+0.0)x2.0, dir=33

dir node> ..D glyph 256 p 1 (4.30554+1.94444)x5.55557
dir node> ..D glyph 2566 F 1 (6.83331+0.0)x6.5278

dir node> .D kern 0 -25.0pt

dir node> .D whatsit 42 42

alter Yht> D hlist O (25.0+25.0)x31.94444, dir=19

alter Yht> .D whatsit 41 41

alter Yht> .D whatsit 40 40

alter Yht> .D kern 0 -25.0pt

alter Yht> .D hlist 2 (30.0+1.94444)x50.0, dir=4, shifted 30.0

alter Yht> ..0 whatsit 44 userid:4 (direction) (node list)
alter Yht> ...D hlist O (50.0+0.0)x2.0, dir=33

alter Yht> ..D glyph 256 p 1 (4.30554+1.94444)x5.55557
alter Yht> ..D glyph 256 F 1 (6.83331+0.0)x6.5278

alter Yht> .D kern 0 -25.0pt

alter Yht> .D whatsit 42 42

alter Twd> D hlist 0 (25.0+25.0)x50.0, dir=35

alter Twd> .D whatsit 41 41

alter Twd> .D whatsit 40 40

alter Twd> .D kern 0 -25.0pt

alter Twd> .D hlist 2 (30.0+1.94444)x50.0, dir=4, shifted 30.0

alter Twd> ..0 whatsit 44 userid:4 (direction) (node list)
alter Twd> ...D hlist 0 (50.0+0.0)x2.0, dir=33

alter Twd> ..D glyph 256 p 1 (4.30554+1.94444)x5.55557
alter Twd> ..D glyph 256 F 1 (6.83331+0.0)x6.5278

alter Twd> .D kern 0 -25.0pt

alter Twd> .D whatsit 42 42

alter Yht> D hlist O (25.0+25.0)x50.0, dir=35

alter Yht> .D whatsit 41 41

alter Yht> .D whatsit 40 40

alter Yht> .D kern 0 -25.0pt

alter Yht> .D hlist 2 (70.0+1.94444)x50.0, dir=4, shifted 70.0

alter Yht> ..0 whatsit 44 userid:4 (direction) (node list)
alter Yht> ...D hlist O (50.0+0.0)x2.0, dir=33

alter Yht> ..D glyph 256 p 1 (4.30554+1.94444)x5.55557
alter Yht> ..D glyph 256 F 1 (6.83331+0.0)x6.5278

alter Yht> .D kern O -25.0pt

alter Yht> .D whatsit 42 42

unwrapped> D hlist 2 (70.0+1.94444)x50.0, dir=4
unwrapped> .0 whatsit 44 userid:4 (direction) (node list)
unwrapped> .D glyph 256 p 1 (4.30554+1.94444)x5.55557
unwrapped> .D glyph 256 F 1 (6.83331+0.0)x6.5278
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